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ginclude <stdio.h>
ginclude <stdlib.h>

int maini)
{
float i:
i=5/2;
14++;
++1;
i*=10;
printf ("3s£f\n", i++) ;
printf ("3£f\n", ++1i);
return 0;



Pe3ynsraTtbl padboThl

W 0 -J ;o 0n & W N =

[ R o o T =
n & W N = O

| -

#include <stdio.h>
#include <stdlib.h>

int waini()

[]

float 1i;

i=5/2;

i++;

++1;

1¥=10;
printf("s£\n", i++) ;
printf ("$£\n", ++1) ;
return 0O;

-’

cv D:\CodeBloksttest1ibin\Debugitest1.exe

40 . 000000
42 . 000000

Process returned 0 <(0x0) execution time :
Press any key to continue.
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ginclude <stdio.h>
#include <stdlib.h>

int maini)
{
float 1i,a=5,b=2;
i=a/b;
14+
++1;
i*=10;
printf("s£f\n", i++) ;
printfi("sf\n",++1);
return 0O;
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1 ginclude <stdio.h>

2 ginclude <stdlib.h>

3

4 int maini()

5 j=¢

6 float i,a=5,b=2;

7 i=a/b;

(= i++;

= ++1i;

10 i*=10;

11 printf ("s£\n", i++) ;
12 printf ("$£\n", ++1) ;
13 return 0O;

14 }

01010101010
47 . 000000

Process returned 0 <0OxO) execution time
Press any key to continue.
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#include <stdio.h>
#include <stdlib.h>

int maini)

{
int a,b,c;
char op;

printfl "™ Input.a op byn"}:

scanf ("sd ", &a);
scanf ("3c ", &op);
scanf ("sd ", &b);
switchiop)

case '+': c=a+b;
case '-': c=a-b;
case '*': c=a*b;
case '/ ': c=a’/b;

¥
printct (T%d- Tl
¥

BBoaumMm:
10+5
YTo yBUAUM?
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#include <stdio.h>
#include <stdlib.h>

int maini)
=
int a,b,c;
char op:;

scanf ("3d ", &a);

scanft ("sc ", &op)
scant ("sd ", &b);

switchiop)

o 3

pinttifsd ®oess

printf( " Input a op bin"):

case : c=a+bh;
case : c=a-b;
case : c=a’*h;
case : c=a/b;

cv D:\CodeBloks\test1\bin\Debug\test1.exe

Input a op b
10 + 5 =
2
Process returned 2 (Ox2)
Press any key to continue.

execution time

12.504
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1 #include <stdio.h>

2 ginclude <stdlib.h>

3

4 int main()

S [ {

6 int a,b,c:;

7 char op:;

8 printf( " Input a op bin"):;
= scant ("sd ", &a);

10 scanf ("3sc ", &op);

11 scanf ("sd ", &b);

12 switch(op)

13 B2 ¢

14 case : c=a+bh; break:’
15 case : c=a-b; break:’
16 case : c=a*h; break:’
17 case : c=a/b; break:
18 default: printf("ERROR!'\n");
19 = ¥
20 printEf=Ea "okl
21 ¥
22 =

cv D:\CodeBloksitest1ibin\Debughtest1.exe

Input a op b
10 + 5 =

15
Process returned 3 <{0x3> execution time : 17.619 s
Press any key to continue.
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#include <stdio.h>

#include <stdlib.h> UTO Ha

: | IKpaHe?

int mwaini)

{
int i;
for (1=0;1<10; 1+=3)

printf("sd ",1i++);

return 0O;
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Process returned 0 <(0Ox0>
Press any key to continue.

ginclude <stdio.h>

ginclude <stdlib.h>

Y10 Ha
3IKpaHe?

int maini)

{

[

int 1i:;

for (i=0;1i<10; 1+=3)
printf("sd ", 1i++);

return 0O

execution time

0.016

o
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ginclude <stdio.h>
#include <stdlib.h>

int maini()

!
L

int i;
for(i=1;1<10; 14=3)

printtf ("sd"”, ++1) ;
return 0;
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Process returned 0 <{0x0) execution time : 0.016 s
Press any key to continue.
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ginclude <stdio.h>
ginclude <stdlib.h>

int maini)
{
int i;
for (1=5;1<10;1i+4=3);
printf ("sd"”,++1i) ;
return 0J;



#include <stdio.h>
#include <stdlib.h>

int maini()

{

int i

for (1=5;1<10;14+=3);
printtf ("sd",++1);

return U
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Process returned 0 <0x0)) execution
Press any key to continue.




ginclude <stdio.h>
ginclude <stdlib.h>

int maini)
{

unsigned char 1i;

TOor (1=25571<24567 1++)
printf ™ sd\n™ i)

return 0O;
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#include <stdio.h>
#include <stdlib.h>

int main()
unsigned char i’
for (i=255;1<256;1i++)
printf{"sdin" i)
return 0O;

cv D:\CodeBloks\test1ibin\Debugitest1.exe

Watches (new)

Functior
El Locals
i 2 '\ooz'

235
236
237
238
239
240
241
242
243
244
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ginclude <stdio.h>
ginclude <stdlib.h>

int maini()
{
int 1,993
for (i=1;1i<10; i++)
for (=17 353, J++)}
printf ("sd",i++) ;
return 0O



1 ginclude <stdio.h>

Z ginclude <stdlib.h>

3

4 int maini)

5 o

6 int i,3;

7 for(i=1;i<10; i++)
8 TOY (]=127]<€32]++)}
= printcf ("$d"”, i++) ;
10 return 0;

11 ]

12 :

cn D:\CodeBloks\test1\bin\Debugitest1.exe
124578

Process returned 0 <{0Ox0> execution
Press any key to continue.
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int *plyaFpl

*rl=5;
pl=(int*)malloc (sizeof (int));
pr2=pl;

*l=10;

free(pl):;

*p2=20;

free(p2);
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#include «<stdio.h>
#include <stdlib.h>
int ocenka(int,int):;
int maini)
=h
int i=3, 1=2;
ocenka(i,]);
printf ("¥Yasha gcenka %d\n",]):

return 0O;

int ocenka(int a,int b)

bt+=a;
return b;




1 #include <stdio.h>

2 #include <stdlib.h>

3 int ocenka(int, int);

4 int maini()

S [ {

6 | int 1= 3,j=2

i ocenkai(i,]):

& | prlntf('igﬁh@ ocenka %d\n",j);
9 return 0O;
i - ]
11 | int ocenkaiint a,int b)
12 |54
1% b+=a:
14 return b;

cv D:\CodeBloks\test1ibintDebugitest1.exe

Uasha ocenka 2




ik i #include <stdio.h>

2 #include <stdlib. h>

= i int ocenka{(int,int*);

4 int maini()

9 HH

6 | int i=3,9=23

7 ocenka{i, &) ;

8 | printf("VYasha ocenka sdxn",7);:
9 return 0O;
e - ]
11 | int ocenka(int a,int *b)
12 =1
T3 *bt=a;
14 | return *b;

Uasha ocenka 5















